A,

2x+3
T o(x+1)(x-1)
x+6
T (x+4)(x-3)
2(x+8)
(x+6)(x+7)
7x+8
(x—6)(x+4)
3x+1
T o(x—1)(x2+1)
2x2%+x+1

T (x-3)(2x2+1)
2

(O8]

x
(x—1)(x%2+x+1)
x%+x+1
T (x241)(x2-1)
6x%2—-3x+14
(4-x)(3x2%2+1)
X% +5x+4

T (x43)(x24+3x+1)
1-2x

" (x45)(x—3)
2x2+8x+7
T (x42)(x+3)
5x2—x+4
"(2x=3)((x+4)
xt+1
T x2+2x
18.Express following in partial fraction
9-8x
(2x-1)(3—x)
12
(2x-1)(3-x)

(9-8x)2

4

9

24

c. Hence , prove that 12 ()

12
5(3-x)
19.Express following in partial fraction
4—x+3x2
(1+x2)(1—x)
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~ (2x-1)2

(3-x)?

5(2x—-1)



A,

__t
T (A+x2)(1-x)
(4—x+3x2)2 1 9

3

3(x+1)

¢. Hence , prove that & =2 = et T oy

x—1 — P 5
L. x2+3x+2  x+1 KpAq
AL A f) g
2‘ x3-1 - x—1 + x2+x+1’* f(X)
2x2-5x+6 __ A B c .
S Ssyameni ol l f KA, B, C
x-=5 a b c .
4. (x—2)2(x+1) T ox+1 T x—2 + (x—Z)z,/:k b
3x%+x+1 _ A B c .
5. (x—1)3 = x—1 (x— 1)2 ( _1)3,* A+B+C
1 A
N m—;+m+x , K A+B+C
7 = +11)3,4'C76’F/Z>"z>‘5\
3x3+2x+1 4 )
8 o A K
_ x+4 4 3 g
9. Smmge AR
11-x2 . _
= ivioan % 3
10.f0) = oy e A a2 X
11.2x;4§—x3 i A 3 R
3x+5
3
12'(xz+3x+4)(x_1)’ A 2 X
(-2 (x?+1) LA 32
x3+4 .
x4t £ 3 .
" (x242x+3)2 A A 32
2
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1-x

1+x2



